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QUESTION 1

Which statement is correct when comparing functionalities of the AF and HF series in the Nimble storage portfolio?
(Choose Two)

A. Zero Copy Clones are a unique feature of All-Flash arrays within the Nimble Portfolio.
B. >99.9999% availability is measured and guaranteed for AF and HF series arrays.
C. HF series has a dedicated read cache and AF series does not have a dedicated reach cache.

D. HF series supports storage snapshots and replication using Veeam Backup and Replication, HF and AF series
support storage snapshots only

Correct Answer: BC

QUESTION 2

A customer is concerned about media and transmission errors caused by any component in the I/O stack from the
server host bus adapter (HBA) into the HPE 3PAR StoreServ ports. Which feature will address the customer\\'s
concern?

A. Persistent Checksum

B. Persistent Cache

C. Peer Persistence

D. Persistent Ports

Correct Answer: A

QUESTION 3

An HPE 3PAR StoreServ customer with FC, SSD and NL, drives is facing extreme latency during peak business hours
with an OLTP application. They have enabled tiering using all drive types. What could be used to resolve the issue?

A. Dynamic Optimization using tier 2

B. Adaptive Optimization using tier 1

C. Dynamic Optimization between tier O and tier 1
D. Dynamic Optimization using tier 1

Correct Answer: C

During a peak period when performance is critical, the VV can be optimized by moving to faster disk and the RAID
level.
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QUESTION 4

A customer currently has a CS1000H and wants to upgrade to a CS3000.
What must be considered before upgrading?

A. This upgrade is disruptive and needs planned downtime.

B. A capacity upgrade to a fully populated array has to be performed first.

C. Timeless storage support is not offered for CS1000H entry-level systems.
D. A controller upgrade to a CS1000F has to be performed first.

Correct Answer: B

QUESTION 5

A customer needs to expand an HPE StoreVirtual VSA based cluster with two additional VSA instances. What do you
need to consider when designing the new VSA instances?

A. They will require downtime to re-balance the resources within the cluster.

B. They must be configured into a new management group.

C. They must be of equal or greater capacity than the existing instances in a cluster.
D. They can only have equal to or smaller capacity compared to the existing instances.

Correct Answer: C
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